India - Size and Locatio_n

6.1

6.2

(i)

6.3

India is one of the ancient civilisations in the world. It has achieved multi-
faceted socio- economic progress during the last five decades. It has moved
forward displaying remarkable progressin the field of agriculture; industry,
technology and overall economic development. India has also contributed
significantly to the making of world history.

Location

India is a vast country. Lying entirely in the Northern hemisphere the main
land extends between latitudes 8°4'N (Kanyakumari/Cape of comorin in
Tamilnadu) and 37°6'N (Jammu & Kashmir) and Iongxtudes 68°7'E (Ghuar
Mota) and 97°25°E Kibithu (in An;aw dlstnct of Arunachal Pradesh).

" The southernmost pomt of the | ndxan Umon Indira Point’ got submerged

under the sea water in 2004 during the Tsunami.

The Tropic of Cancer (23° 30'N) divides the country into almost two equal
parts. To the southeast and southwest of the meinland, lie the Andaman
and Nicobar islands and the Lakshadweep islands in Bay of Benga! and
Arabian Sea respectively.

Impact of the longitudinal extent of India
The earth takes 24 hours to complete one rotation (3609 about its axis

which means the earth rotates at the pace of 15° per hour (360/24) or we |,

can say it takes 4’ to cover the distance between two longitudes on equator.
As the | longitudinal extent of India is about 30° longitude (i.e., 97°25°E -
687’ E) the time lag between easternmost and westernmost points of
India is of two hours (i.e., 30x4'= 120 minutes). When it is 6.00 a.m at
easternmost point of India, its still-4.00 a.m at the western most point),
That will create a lot of time confusion. To avoid this time confusion, time *

along the 82°30’ Eis been taken as the Standard Time of India because -
- Itis exactly divisible by 7°30‘ 2 standard adopted by almost allthe’ countnes A

of the world,

It lies almost in- the mxddle of Indxa

Impact of the !atludmal extént of lndla

- {it passes through the middle of lndic

“India, officially the Republic
of India, is a country in South
Asia. It is the seventh-largest
country by area, the second-
most populous country with
over 1.2 billion people, and
the most pojau!qus democracy
in the world."

Fig.1 India in the world

me 82°30" E longitude-is rcken s
Standard Time Meridian of India, as|

{ffom Naini, near Allohabad.) Hence
Naini {Mirzapur), near Allahobad!
is the Stondcrd Time Mendmn of

India.




The pemnsu[ar nothe of India as wcll
as the possession of innumerable
rivers makes the country quite prone
fo floods. Morcover, the hugé rainfall
ot different parts of the nation
coniributes o the massive floods. As
per G. S. I {Geological Survey of
india}, 12.5 % of the country’s area
is prone to flood.

Fig.3 Himalyas

Tbe meuioyas-from the Scnsknt
hima, meanmg "snow," and
a[aya, meaning "abode"-are found| | ..
. {in the north of India. They extend} |-
{1,500 miles and are slowly growing
taﬂer, by clmosf aninch {2.5 cml a
year. -

6.4

Kanyakumari the southernmost point of the mainland of India is situated
very much near to the equator. Here the difference between the durations
of day and night is hardly felt, the maximum difference is of 45 minutes
only. But as we move further towards north, towards Kashmir the dnfference
between the durations of day and night increases. If reaches upto 5 hrs in

Kashmir. This difference occurs because as we move away from the the |

equator the difference of duration of day and night increases according to

seasorl.

0 - . [
Russta Canada usa China Brazil . India
. Country co
Fig.2 Seven largest countries of the world
Size

The larel mass of India has an area of 3.28 million square km. India’s total

area accounts for about 2.4 per cent of the total geographical area of the

" world: India has a land boundary of abotit 15,200 kin ‘and the total lerigth

of the coast line of the mainland including Andaman and Nicobar and
Lakshadweep is 7,516.6 km. ‘

India is bounded by the young fold mountams in the nort‘nwest north and
north east. South of about 22° north latltude, it begins to taper, and extends
towards the Indian Ocean, dividing i't into two seas, the Arabian Sea en the
west and the Bay of Bengal on its east. :

" The difference between the latitudinal and longitudinal extent seems to be
- equal (30% on map. Butin actual the: north-south extension {3214 kilometre)

of the country is more then the cast-west extension {2933 kilometre) This
is because the latitudes are always parallel to each other; that's why they
are even termed as Parallels, but the longitudes converge towards..each
other as they move towards the poles. The latitudes and the longxtudes
mako the shape of a square on the equator. but it makés the shape ofa
rectangle as it moves towa ds the poles. Because India doesnt lie exactly

" on the eduator, it lies above equator, on both s‘fdes of the Tropic of Cancer,

: -west extenswn

%0 the grid of latitude and Iongxtude seems to be a square of 30°, but in

realityitsa rectangle thh north-south extensxon bemg more then the east—
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6.5

CHECK

T T T

T T T
0% 7_3” o 5 : 8° 3%0 9° 9%
: : H : : 2 t
: i [ : i i
; : Mom ! v ' i
PN AN i i 5,
S :'-{,\1 H ,.I . _-_,__..5{-35?”'4
- INDI A|
PopanisTani | i & :
Paf : S i
: 4 I S SR S
[ _/" : H
H >
: P \>‘-"I-\ CHINA
: i JEE A (rtheTy g
380 i 4 3
e SRS =
T Yol &A"L.\__ L p
‘ (.»-, " Apm. < TN 3 Jr: NS
! \ " 2 e . !
LN e ay i
o8 I },\ L. 90 ¢
Y D [ A €, BANGLADESH; s
. ! ey A s
B — A TR Ao
1) [ i ;
] e
I NTANMAR
o B
14 Zalp]
1z !
T i
{§ £
W
R
»
Z
o
] g
i 3
J; "'.l.
i
W (INow} !
;; 3 lN’D‘l;\;ﬂr@“}“ . N wg»c—g;-gw-— - o ;
T - Y ¥ e ‘6-

Fig.4 India: Extent and Standard Meridian
YOUR LEARNING

Name the Union Territories on the eastern and western coast of India.
Area-wise which is the smallest and which is the largest state? i

Classify the states into four groups each having common frontiers with
(i) Pakistan, (if) China, {iii) Myanmar, and {iv) Bangladesh.

India and the world

The Indian landmass has a central location between the East and the West
Asia, India is a southward extension of the Asian Continent. The trans
Indian Ocean routes which connect the countries of Europe in the West
and the countries of East Asia provide a strategic central location to India.

Note that the Deccan Peninsula protrudes into the Indian Ocean, thus |
helping India to establish close contact with West Asia, Africa and Europe -

from the western coast and with Southeast and East Asia from the eastern
coast. No other country has a long coastline on the Indian Ocean'as India
has and indeed, it is India's eminent position in the Indian. Ocean which
justifies the naming of an Ocean after it. -

(Since the opening of the Suez Canalin 1869, India's distance from Europe
has been reduced by 7,000 km.)

India’s contacts with the World have continued through the ages but her.

relationships through the land routes are much older than her maritime

3

Kuttanad, in 1he sfote of Keralo
which is Iocoted at 2.2 m below he
sea level, is the lowest point of the
nation.

Fig.5 Indian tricolour flag

righteousness.

The indian flag is ‘iri colored’.
Saffron-courage and sacrifice; white- |
truth, peace, and purity; green-|.
prosperity. The Ashok Chckro- :




Alexander the Great invaded India
partly because he wanfed to solve
the mystery of the "ocean," which he
had been told was o huge,
continuous sea that flowed in a circle
around the land.

Fiy.7 ﬁxu:xdux

Bangladesh shares the fongesi
whereas Afghanistan shares the
shortest land boundary with India.

contacts. The various passes across the mountains in the north have provided
passages to the ancient travellers, while the oceans restricted such interaction
for a long time.

z:.x»a"A (\‘” 5( Notto Sz g

Fig.6 : Indxa on International H-ghway of Trade and Commerce
These routes have contributed in the exchange of ideas and commodities
since ancieni times. The ideas of ihe Upanishads and the Ramayana, the
stories of Panchtantra, the Indian numerals and the decimal system thus
could reach many parts of the world. The spices, muslin and other
merchandise were taken from India to different couniries. On the other
hand, the influence of Greek sculpture, and the architectural styles of dome
‘and minarets from West Asia can be seen in different parts of our country.
6.6 India's neighbours ‘
India occupies an important strategic position in South Asna India has 28

states and 7 Union Te1 rxtones
(m’c u‘ (x’ 7'° 76° 80° 8 su;v .9;‘ 96‘ mi'm

el L -mammmsTAN. oo o o o o o Lo L. DU | S

o
1 Im""'“"j): Ll‘ INDIA
: .}.v-f \V ADJACENT COUNTRIES.  34nd{]
- , AFGHANISTAN :,f $
o 3
<~._ CHRINA
M T T kst (TIEET

_BAY OF %)
-"BENGAL- -

Fig. 8 India and adjacent- countnes

India shares its Tand boundaries with Pakistan and Afghamstan in the
northwest, China (Tibet), Nepal and Bhutan in the north and Myanmar and.



- and the Gulf of Mannar while Maldives Islands are situated to the south of

Bangladesh in the east. Our southern neighbours across the sea consist of
the two island countries, namely Sri Lanka and Maldives. Sri Lanka is
separated from India by a narrow channel of sea formed by the Paik Strait

the Lakshadweep Islands.
|CHECK YOUR AnsweRs TS
1. Union Territories on the western coast of India are four in number - Diu
and Daman, Dadra and Nagar Haveli, Mahe {Pondicherry) and
Lakshadweep. Union Territories on the eastern coast of India are two - S
Pondicherry and Andaman and Nicobar Islands. Fig.9 lndo Pak relanons
2. Smallest State in India (areawise) - Goa
Largest State in India (areawise) - Rajasthan
3. () States having common frontiers with Pakistan are Jammu and Kashmir,
' Punjab, Rajasthan and Gujarat.
(i) ~States having common frontiers with Chin:- are Jammu and Kashimir,
Himachal Pradesh, Uttarakhand, Sikkim and Arunachal Pradesh.
{iii} States having common frontiers with Myanmar are Arunachal Pradesh,
Nagaland, Manipur and Mizoram.
(iv) States having common frontiers with Bangladesh are West Bengal, L o
Meghalaya, Assam and Tripura A 1948 cease-fire line; : kown as the
gha'aya, pura. Line of Control, divides Kashmir
between India and Pakistan,
———(MPORTANT TERMS)———
1. FOLD MOUNTAINS
Mountains which develop when two tectonic plates come together causing compressxon resutlmg in bucklmg &
folding of rocks,
2. INDIAN STANDARD TIME (IST)
This is local time of the longitude 82°30' East, taken as the time for the whole of India, This is five half and a- ‘
hllf-hours ahead of GMT, oy
3. STANDARDMERIDIAN
The longitude which passes through a country/regxon which is used to ﬂx the standard tzme for that countary/
~ Tegion, -
4, SUB- CONTlNENT

Thisis a part of a continent having specxfxc chmatxc condmons and chllutral 1dent1ty, wh:ch is separated from the
test of the continent by natural feaiures like mountams :
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EXERCISE # 1

FORMATIVE ASSESSMENT

e

10.

11.

12,

4 (3)0°

Multiple choice questions
What is the official name of India ?

{A) Hindustan {2) Bharat
{3) Bharatvarsha. (4} Aryavarta
What is the eastern most longitude of India?
(1)97°27E (2) 72°10E
(3} 68°7F: (4)97°25°E
What is the latitudinal extent of India?
(1) 6°4'N to 30°6N (2) 7°4'N to 37°6'N
(3) 8°4'N to 37°6'N {4) 4°3N to 3502N
What is the length of the Indian coast line?
(1)7010km. (2) 5310km.
(3) 7516.6 km. (4) 3200 km
What is the length of the Indian Land boundary?
{1} 12000Km. (2) 15000Km.
{3) 15,200Km. {4) 10,100Km.
Name the parallel of latitude which divides India
into almost two equal parts.

~ (1) Equator (2) Tropic of Capricorn
(3) Arctic circle (4) Tropic of Cancer

From which state the ‘Iropic of Cancer does nol
pass?

" (1) Gujarat _ " (9)Bihar
{3) West Bangal {4) Mizoram
From which latitute the Tropic of Cancer passes.
{1) 20°N {2) 23%2°S
(3 23%2°N {8) 66 2N
Whial is longitudnal extent of India ?
(1) 67°4'E 10 96°2E (2) 62°3E to 95°12E
(3)68°7Eto 97°25E  (4)64°4'Eto 96°25'E

Uttaranchal, Uttar Pradesh, Bihar, West Bengal and
Sikkim have common frontiers with

(1) China (2) Bhutan
{3) Nepal (4) Myanmar

If you intend to visit Kavaratti during your summer
vacation, which one of the following, Umon
Territories of India you will be going to

(1) Pondicherry (2) Daman and Diu

® Andaman and Nicobar (4) Lakshadweep

Which longitude represents the Standard Mendlan

of India ?
(1} 81°30'E (2 82°32°F

| {4)82°30E

Fon
.

13.

14.
15.

16.

17.

18.
19,

20.

o

Which triangular shape country lies to the south of
the Kanyakumari ?

{1} Maldives {2) Bangla&esh

{3) Srilanka {4} Nepal

What is the southern most point of the Indian Union?
(1) Kanya Kumari {2) Leh

(3) Indira Point ~ (4) Kerala

Which is the largest countiry in the world ?

{1) Russia (2) India

(3) China (4) Canada

Which canal shortened the distance between India
and Europe?

(1) Panama Canal (2) Suez Canal

{3} Indira Gandhi Canal  (4) None of these
Narmie the group of islunds in Arabian sea. ~

(1) Goa (2) Lakshwadweep
(3) Andaman & Nicobar  (4) None of these

Name the southern nexghbour of India other than
Srilanka ?

S (D) Lakshwadwéep (2) Maldives .
‘ (3) Bangladesh - (4) Afghanistan . .
Name the Ocean which lies in the soutli of India.
(1) Indian Ocean {2) Pacific Ocean - .
{3) Arctic Ocean’” " (4yAtldntic Ocean "
Which water body lies to the east of India? ° '
{1) Arabian Sea {2} Indian Ocean
(3) Bay of Bengal {4) Arctic ocean

Match the following Columns

- Celumn | | Column .
(A){84N- |6 |Southernmost tip of
37°6'N mainland of India
(B)| 68°7E - (i) |Standard Meridian of
97°25'E " |India . ‘
(C}{ 8230°E (ii) | Longitudinal- extensmn
of India
Kanyakumaril (i) | Latitudinal = extension
‘ || ofIndia.
{E} | Indira Point (v) .Largeststateoflndia :
(F) | Rajasthan |(vi) | Southernmost tip of
- Indian Union.

True or false™ - .
India lies entirely in the Northern Hermsphere
The Tropic of Capncom dxvides the country into

almost two equal parts S



To avoid time confusion, time along the 82°30°E | 2.

is been taken as the Standard Time of india.
India has a land boundary of about 7,516.6 km

and the total fength of the coast line of the main- 3.

land including Andaman and Nicobar and
Lakshadweep is 15,200 km.

As the extent of India is about 30 longitude the

time lag between easternmost and westermost points
~of India is of............. hours.

The Longitude which pasées from Mirjapur {in Uttar

Pradesh) is taken as the Standard Meridian of India.

The north-south extension of the country is 2933 4, The. land mass of India hasanareaof ..................
kilometre and the east-west extension is 3214 million square km.
kilometre. 5. Indiaisboundedbythe ......cooooeiiiiiiiiin
No other country has a long coastline onthelndian | ... in the northwest, north and north east.
Ocean as India has. 6.  Thelndianlandmasshasa..................... location
Sma? the opening of the Panama Canal in 1869, between the East and the West Asia.
India’s distance from Europe has been reduced by '

7.  The various passes across the mountains in the

7,000 km.

Indial shares its land boundaries with Pakistan and
Afghanistan in the northwest. '

Fill in the blanks

The southernmost point of the Indian Union- | 8.

............................. got submerged under the sea
water in 2004 during the Tsunami.

................... have provided passages to the an-
cient travellers, while the oceans restricted such
interaction for a long time.

The spices, muslin and other mercﬁandise were

taken from. to different countries.

Match the column ‘
" 1.A>Ww;Bov;Coi;Dii;Eosvi;Foii
True or false :

1. True
Fill in the blanks ‘
1. 'Indira Point' 2. longitudinal
6. central 7. north

3.two 4328

- 8.India

2.False 3. True. 4. False 5.False 6.

-~ -5, young fold_"rrggbgntainﬁ v el '

True 7. False 8. True

P R



EXERCISE # 2 '

SUMMATIVE ASSESSMENT

3.

* explaining three suitable points. -

Short answer type quest:ons

What is the Iongxtudmal extent of India? State its
two implications.

What is the latitudinal e):f(tent of India? How does it
affect India?

What is the borxthemmogt point of the Indian Union
called? Describe its l»c:catlon in India and its current

" situation

What is the Standard Mendxan of India? From where

does it pass? 3

What was the centrib:uti%n of land routes to India in
ancient times? Explain dny three.

i

WhyIndiais called a subcontment" Wnte any three
points.

LN OO SRR L

Do you think nz ming the Indian Ocean after a

country is justified. W hy'?

How does India cccupy an important strategic
position in Scuth Asia? Hlustrate your answer by

R -

Give 2 reason for the following statement :

{) 82° 30 E Latitude has been selected as the
Standard Meridian of India.

(b)A The distance between India and Europe has
been reduced by 7000 km. with the opening
of Suez Canal.

{c) Days and night are almost of equal duration at
Kanniyakumari.

Long answer type questions

Which are the countries with which India shares land

boundaries? Write a short note about India’s position

among its neighbours. A

Write a note on the location and size of India .

Wiite a note on th‘e Indian Stundard Time? Why is

there a time dszerence of almost 2 hours from

Arunachal Pradesh to Gujarat?

How many states form the Union of India? Write a

_note on the smallest and the largest Indian states.

What are the two groups of Indian islands? Write a
note on each, describing its geographic position with
relation to India. .

How has India’s geographic location aided the

) nahon'?

The Troptc of Cancer passes half way through the
country, What does this imply?

S




NCERT QUESTIONS WITH ANSWERS

'_ Ans,

Choose the right answer from the four alternatives given below :

{i) The Tropic of Cancer does not pass through: .

{a) Rajasthan {b) Chhattisgarh (c} Orissa . {d) Tripura

Ans, Orissa. |

(i) The eastérn-most longitude of India is: ’ ‘

(a) 97° 25E (b)68° 7E (c) 77° 6E - {d) 82°'32FE

Ans. The eastern-most longitude is 97° 25?

(iii) Uttarakhand, Uttar Pradesh, Bihar, West Bengal and Sikkim have common frontiers with :

{a) China {b) Bhutan {c) Nepal {d) Myanmar -

Ans, Uttarakhand, Uttar Pradesh, Bihar, West Bengal and Sikkim have common borders with Nepal.

{iv) If you intend to visit the island Kavaratti during your summer vacations, which one of the followmg Union
Territory of India you will be going to?

{a) Pondicherry (b) Andaman and Nicobar (c) Lakshadweep (d) Diu and Daman?
Ans, Lakshadweep. .
(vi) My friend hails from a country which does not share land boundary wﬂ:h India.

Identify the country. ) ,

{a) Bhutan }b) Tajikistan . {c} Myanmar {d) Nepal- -

Ans, Tajikistan. »

Answer the followmg questloqs briefly. _ : e e e
(i)  Name the group of islands lymg in the Arabxan Sea.

Ans. Lakshadweep.

(i) Name the eountries which are larger than India?

Ans, The countries larger than India are Russia, China, Canada, USA, Brazil and Australia.
(iii)  Which island group of India lies to its south-east? '

Ans. Andaman and Nicobar Islands.

(iv)  Which island countries are our southern neighbours?

Ans, Maldives and St Lanka.

~ The sun rises two hours earlier in Amnachal Pradesh as compared to. Gu;arat in the west but the wat?hes

show the same time. How does this happen?

The local hme dlfference arlses because the sunrise is earher in the east-than in the west, However the
watches show the same time because Indian Standard Time is reckoned from a single meridian 820307
that passes through Mirzapur in Uttar Pradesh : .' : Sy

The central location of Xndxa at the head of the Ind;an Ocean is consxdered of. great signiﬁcance Why? S

. The location of India at the head of the Indian Ocean has helped India in establishing close contacts with
) West Asi fa, Afnca and Europe from. the westem coast and W1th South—east and’ East Asm from the ea.stem T




WAP SKILLS % -
1.  Identify the following thh the help of map reading -
(i} The island éroups of f;;idia lying in the Arabian Sea and the Bay of Bengal.

;
(ii) The countries constituting Indian subcontinent.
{iii) The states through wilich the Tropic of Cancer passes.

¥

(iv) The northernmost Ia’étude in degrees.

{v) The southernmost latiféude of the Indian mainland in degrees.
{(vi) The eastern and the ,;westem most longitude in degrees.

{vii) The place sitveted op the three seas.

{viii) The strait separ@iiné Sri Lanka from India.
(ix} The Union Territciije’g of India.
ok

Ans. :

~
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